


ONo 3(a) What is meant by Aggregation ? How sit different from Composition? 
Which one would be implemented using LIST data-structure? (7)

and inheritance of (b) Differentiate 
impiementation with the help of an example 

between inheritance of interfaces 

(8) 

Q No 4 (a) Why assembler is designed as two pass? Discuss the various data structures 

(8) used by the assembler 

(b) What is Lexicai analysis ? Explain its working 

Q No 5 (a) Give your comments on the following phrase in the light of protected members 
A class is closed as well as open 

b)Prepare instance diagram from the object diagram given in Fig 1 
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Fig 1 

O No 6 What is use Case model? Design and illustrate the use case of various activites 

(15) done in a on-ine examination system 

What are literals? How are they dfferent from constants? 

Liskov Substitution Principle 
What is relatve loader? Explain its working 

No 7 VWnte short notes on any two of the foilowin9 

(75 2) (H4) 
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